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+00 IZFERUS 284 (1)

Definition

B {xn} DEERRIETIFERT %

Xy — +00  (n — +00)
2iE, TEDOR>1ICHLTES NDBEFEELT

R<x, (n>N)

TN, TN+1; TNA42;5 - - -

/
/ 'S

RS DR
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+o00 IZFHERT 58 (2)

Example 1 x,=n( n=1,23,...) 35k

Xn — +00

VR>1ZWDEY. ZOLE
R—1<[RI<R
BOTN=[R]+1LET. n>NZHIE

R<[R]+1=N<n
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EF

TEH 1
(1) xo = 400, yn = 400 (n = +00) 72 51X
Xp+Yn — +00 (0= 400), Xpyn — +00 (n— +00)
(2) x, = +00, yn > a €R (n — +00) 251X
Xp+ Yn — +00  (n = 400)
THa>0k61F
XpYn = +00  (n — 400)
(3) (LHIL) x5 = 400 (n—= +00) Tx, <y, (n>3INg)51F

Yn — +00  (n — +00)
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#H1 GEZESL) (1)

EEIQ1)VR>1ZWDET. x, > oo b
E|/V1(I72/V1:>1<R<Xn)

Vo — +00 P 5B
HNQ(HZN2:>].<R<}/”)

N :=max(Ni,Np) L Tn>NZHIEn> Ny 22D n> Ny 72DT
R<R+R<Xp+yn, R=1-R<R-R<x,-yn

»5
Xp+ Yn — +00,  Xpyn — +00 (N — +00)
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#H1 GEZEDSL) (2)

EHE1(2) 3) #HEVET. y, > a>0RDT, HEES N BFELT

(6%
>Ny = — —
DHRALLET. 1o T

(6
E’Xn < XpYn (n > NO)

SHICa>0056

§’Xn—)+OO

BREETAS CRLTAED) (3)IckoT

XnYn — +00
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FH1 GIHEDL) (3)

FE1(3) VR>1ZHDVET. x, = +o0 22 H
3N (0> Ny = R < xp)
BRI UET. N = max(No, M) I LT n> No 20 n > Ny 06
R <xn < yn

EhhET.
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LT 2axXr b

Example 2 1 D (1) 25
n* — 400 (n— 400)

Example 3a,=n* —n¥3%. ZH%a,=n (1 — %) CEET B

1
an:n2(1—>—>+oo
n

EBEn? 5 4o 1-1 5 1>0200FH10(2) PEATE 3.
Remark The Part (3) is called PUSH OUT Theorem in Japan. It means
OSHIDASHI, a winning trick of the Sumou.
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EHLIIHT2axX ey (2)

Example 4 a2 > 172513

a" —» 400 (n— +00)
Fha=1+035L0>0ThHh, 2B HEHD»S

n(n—1)

a"=(140)"=1+nb+ 024+ 0" > 0n

DES. 760 -n— 400 THZDT, EHI3) 256 a" — +o0.
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EH 2

TEH 2
(1) TRTOFES nITH LT x, #0 T, x, = +00 (n— +00) RS

1
— =0 (n— +00)
Xn

(2) 2, > 0 BHEED n ITHLTHRIZLT, a, > 07261

1
— =+
an
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|
TEH 2(1)-FEPH

Ve>0%MDEF. ZLTR:=1>0L%F

AN(n>N= R < xp)

o n> NEoE

O< <1 €
R

THEZehnnrhxT.

(2) bAMKTT. EEOR> 1ML Te=% LEDZET.

RS DR
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s I35 /5 O REIE (1)
B 7 ORI (1)
g: (A +0)—=R
(1)
g(x) > a€eR (x — +0)
CAXSRMN
Xp € (A, +00), X — +0o0 (n— +00)
7T {x,} DT
g(xn) > a (n— +0)
Pl TeETHB.
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SERRE T ORENR (2)
TmRR /7 DR (2)
(2)

g(x) = +oo  (x = +00)
=S LS

Xp € (A, +00), X5 — 400 (n— +00)

272 SR {xp } DT

g(xn) = 400 (n — +00)
Ziti/lz- T ETH 5.
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[FfE7: EF (Equivallent Definitions)

(1) g(x) > o € R (x = +00) if and only if for any € > 0, we can find
R > 0 satisfying
a—e<g(t)<a+e (t>R)

(2) g(x) = 400 (x = +00) if and only if for any R > 1, we can find
Ro > 0 satisfying
R<g(t) (Ro<t)

RS OER e



Examples

Example 5 We consider

Then
g(x) =0 (x— 4o0)

Take a sequence {x,} satisfying
Xn >0, x5, — 400

Then it follows from Theorem 2 that

g(xn) = xi —0 (n— +00)

n
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Theorem 3

Theorem 3

2 DD
f(x): (A+o0) =R, g(x): (A +o0) =R
DX — FooDEE
f(x) >a€R, g(x)—pF€R

Zifilz3 9%,
(1) f(x) £g(x) > a£ B (x = +o0)

(2) f(x)g(x) = aB (x = +0o0)
(3)g(x)#0(x>A)TL#0&THL
f(x) o
@_)E(X_)+OO)
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